

	№
	ФИО
	Задания

	1
	Баранова Аделина
	1,4,5,7,9,11,13,15,17,19,21,23,25,27

	2
	Бочарова Елена
	2,3,6,8,10,12,14,16,18,20,22,24,26,28

	3
	Брянская Дарья
	1,3,5,7,9,11,13, 16,18,20,22,24,26,28

	4
	Дедюкина Полина
	2,4,6,8,10,12,14,16,18,20,22,24,26,28

	5
	Демченко Мария
	1,4,5,7,9,11,13,15,17,19,21,23,25,27

	6
	Касатов Дмитрий
	2,4,6,8,10,12,14,16,18,20,22,24,26,27

	7
	Князева Анастасия
	1,3,5,7,9,11,13,15,17,19,21,23,25,27

	8
	Конев Никита
	2,3,6,8,10,12,14, 15,17,19,21,23,25,28

	9
	Курышев Александр
	1,3,5,7,9,11,13,15,17,19,21,23,25,27

	10
	Лапшова Виктория
	1,3,5,7,9,11,13, 16,18,20,22,24,26,28

	11
	Лыонг Павел
	2,4,6,8,10,12,14, 15,17,19,21,23,25,27

	12
	Максюта Артем
	1,4,6,8,10,12,14,16,18,20,22,24,26,28

	13
	Мигачев Никита
	1,3,5,7,9,11,13, 16,18,20,22,24,26,28

	14
	Морозова Ксения
	1,3,5,7,9,11,13,15,17,19,21,23,25,27

	15
	Муса Джамал
	2,4,6,8,10,12,14, 15,17,19,21,23,25,27

	16
	Нахапетян Джульетта
	2,4,6,8,10,12,14,16,18,20,22,24,26,28

	17
	Никулина Валерия
	1,3,5,7,9,11,13, 16,18,20,22,24,26,28

	18
	Осипова Алина
	1,3,5,7,9,11,13, 15,17,19,21,23,25,27

	19
	Пузин Иван
	1,4,5,7,9,11,13,15,17,19,21,23,25,27

	20
	Солдатова Дарья
	2,4,6,8,10,12,14,16,18,20,22,24,26,28

	21
	Фомина Кристина
	2,4,6,8,10,12,14, 15,17,19,21,23,25,27

	22
	Шклярук Дмитрий
	2,4,6,8,10,12,14,16,18,20,22,24,26,27

	23
	Якубов Никита
	1,3,5,7,9,11,13,15,17,19,21,23,25,27


Вычислить значение выражения                  
1)  7 cos2 t +5,2   при sin2 t= 0,4 ;                               

2) 4 – 6 cos2 x    при sin x= - 0,75;                            
3) 5 sin2α - cos 60° + 5 cos2α ;                                  
4) 12,6 + cos2[image: image2.png]


 + sin2 [image: image4.png]


;                                                                
Вычислить значение тригонометрических функций:

5) sin α,   tg α    при  cos α = - 0,8 , если    [image: image6.png]“<a<m
>



;
6) cos α, ctg α    при sin α = [image: image8.png]


 , если  0[image: image10.png]T
<a<-
5




Вычислить значение тригонометрических функций.
7) cos y   при tg y =[image: image12.png]


,  eсли  [image: image14.png]“<y<m
> <Y



 .   

8)  sin [image: image16.png]


  при ctg [image: image18.png]


=[image: image20.png]


, если[image: image22.png]R
0<B<;



.                                                   Доказать тождество.
9)[image: image24.png]sinx l+cosx 2
L

1—cos x <in x <in x




 ;
 10)  ( 1+ cos 4t) ( 1- cos 4t) = sin 24t ; [image: image26.png]



  Вычислить значение выражения 
          11)          6sin x ∙ cos x, при ( sin x - cos x ) = 1,3 ;
12) 8sin x ∙ cos x, при ( sin x - cos x ) = 1,4 ;
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	13
	Вычислить значение выражения
12 cos x -4,5 .  если
sin x=[image: image28.png]2V2
2 npu 0<x<§



 .      
	14
	Вычислить значение выражения
3,5 sin x -1,5 , если
cos x =[image: image30.png]w3



  [image: image32.png]npu 0<x<’2—'



 .

	15
	Вычислить значение выражения

3cos2 x- 6,3 +3sin2 x       

при  cos x=-0,3.
	16
	Вычислить значение выражения

5sin2 x +0,61 + cos2 x
при  sin x= -0,4.

	17
	Вычислить значение выражения

2 cos2  x + 1

при   tg x= [image: image34.png]



	18
	Вычислить значение выражения

7 cos2  x - 1

при   tg x= [image: image36.png]




	19
	Упростите:
cos2 t ∙ tg2 t : ( 1- cos2 t ) .
	20
	Упростите:

sin2 t ∙ ctg2 t : ( 1- sin2 t )

	21
	Упростите:
( 2+ cos x ) ∙ ( 2 -  cos x) -

-( 2-  sin x ) ∙ ( 2+ sin x ) .
	22
	Упростите:
( 3+ cos x ) ∙ ( 3 -  cos x) -

-( 3-  sin  x ) ∙ ( 3+ sin x ) .

	23
	Упростите:

[image: image38.png]cost—1
sint



 [image: image40.png]cost+l

sint



.
	24
	Упростите:

[image: image42.png]sint—1
cost



 [image: image44.png]sint+1

cost



.

	25
	Упростите:

[image: image46.png]1-sinx

cos v



–[image: image48.png]cosx

1 tsin v



 .
	26
	Упростите:

[image: image50.png]1tcosx




–[image: image52.png]sinx

1—cOs x



 .

	27
	Упростите:

( sint - 2cost )2 + 4sint∙ cost.
	28
	Упростите:

( 3sint + 2 cost )2 - 12sint∙ cost.
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